



NEW CONGRUENCES FOR 3-REGULAR PARTITIONS WITH DESIGNATED SUMMANDS

Robson da Silva¹

Universidade Federal de São Paulo, São José dos Campos, São Paulo, Brazil
silva.robson@unifesp.br

James A. Sellers

*Department of Mathematics and Statistics, University of Minnesota - Duluth,
 Duluth, Minnesota*
jsellers@d.umn.edu

Received: 10/31/18, Accepted: 8/5/19, Published: 4/27/20

Abstract

In 2002, Andrews, Lewis and Lovejoy introduced and studied the partition function $PD(n)$, the number of partitions of n with designated summands. Recently, congruences involving the number of ℓ -regular partitions with designated summands, denoted by $PD_\ell(n)$, have been explored for $\ell = 2$ and $\ell = 3$. In this paper, we present new arithmetic properties of $PD_3(n)$, including a complete characterization of this function modulo 3.

1. Introduction

A partition of an integer $n \geq 0$ is a non-increasing sequence of positive integers, $\lambda_1 \geq \dots \geq \lambda_s$, such that $n = \lambda_1 + \dots + \lambda_s$. The λ_i s are called the parts of the partition.

Andrews, Lewis, and Lovejoy [1] introduced and studied many properties of a new class of objects called partitions with designated summands. These partitions are constructed by taking ordinary partitions and tagging exactly one of each part size. For instance, the ten partitions of 4 with designated summands are:

$$\begin{aligned}
 & 4', \quad 3' + 1', \quad 2' + 2, \quad 2 + 2', \quad 2' + 1' + 1, \quad 2' + 1 + 1', \\
 & 1' + 1 + 1 + 1, \quad 1 + 1' + 1 + 1, \quad 1 + 1 + 1' + 1, \quad 1 + 1 + 1 + 1'.
 \end{aligned}$$

The arithmetic aspects of the number of partitions with designated summands, denoted by $PD(n)$, have been studied in [1, 3, 6, 8, 14]. For instance, in [1] the

¹supported by FAPESP (Grant no. 2016/14057-2).

authors proved that for all $n \geq 0$

$$PD(3n + 2) \equiv 0 \pmod{3}.$$

In [1], the authors also presented some arithmetic properties of $PD_2(n)$, the number of 2-regular partitions of n with designated summands (a partition of n is called ℓ -regular if there is no part divisible by the positive integer ℓ). Subsequently, in [3], additional congruences satisfied by $PD_2(n)$ were found. In [12], the authors considered $PD_3(n)$, the number of 3-regular partitions of n with designated summands. They proved that the generating function for $PD_3(n)$ is given by

$$\sum_{n=0}^{\infty} PD_3(n)q^n = \frac{(q^6; q^6)_\infty^2 (q^9; q^9)_\infty}{(q; q)_\infty (q^2; q^2)_\infty (q^{18}; q^{18})_\infty}, \quad (1)$$

where

$$\begin{aligned} (a; q)_0 &= 1, \\ (a; q)_n &= (1 - a)(1 - aq) \cdots (1 - aq^{n-1}), \text{ for all } n \geq 1, \\ (a; q)_\infty &= \lim_{n \rightarrow \infty} (a; q)_n, |q| < 1. \end{aligned}$$

The authors then proved the following:

Theorem 1 ([12], Theorem 2). *For each $n \geq 0$,*

$$\begin{aligned} PD_3(6n + 3) &\equiv 0 \pmod{4}, \\ PD_3(6n + 5) &\equiv 0 \pmod{12}, \\ PD_3(12n + 8) &\equiv 0 \pmod{48}, \\ PD_3(24n + 4) &\equiv 0 \pmod{9}, \\ PD_3(24n + 20) &\equiv 0 \pmod{144}, \\ PD_3(24n + 22) &\equiv 0 \pmod{36}, \\ PD_3(48n + 38) &\equiv 0 \pmod{12}. \end{aligned}$$

In this paper, using elementary generating function manipulations, we provide new congruences satisfied by $PD_3(n)$, including a complete characterization of this function modulo 3. Namely, we prove the following:

Theorem 2. *For all $n \geq 0$,*

$$PD_3(n) \equiv \begin{cases} r(n) \pmod{3}, & \text{if } n = k(k+1) + 3m(m+1) + 1, \\ 0 \pmod{3}, & \text{otherwise,} \end{cases} \quad (2)$$

where $r(n)$ is the number of representations of n as $k(k+1) + 3m(m+1) + 1$,

which provides a complete characterization of $PD_3(n)$ modulo 3, and

Theorem 3. *For all $n \geq 0$,*

$$PD_3(24n + 16) \equiv 0 \pmod{2}, \quad (3)$$

$$PD_3(9n + 6) \equiv 0 \pmod{3}, \quad (4)$$

$$PD_3(32n + 8) \equiv 0 \pmod{4}, \quad (5)$$

$$PD_3(36n) \equiv 0 \pmod{4}, \quad (6)$$

$$PD_3(12n + 9) \equiv 0 \pmod{8}, \quad (7)$$

$$PD_3(18n + 9) \equiv 0 \pmod{8}, \quad (8)$$

$$PD_3(18n + 15) \equiv 0 \pmod{8}, \quad (9)$$

$$PD_3(24n + 17) \equiv 0 \pmod{8}, \quad (10)$$

$$PD_3(24n + 23) \equiv 0 \pmod{8}, \quad (11)$$

$$PD_3(6n + 4) \equiv 0 \pmod{9}. \quad (12)$$

This paper is organized as follows. In Section 2, we recall some basic properties of Ramanujan's theta functions $\phi(q)$ and $\psi(q)$ and we also present some useful identities. Section 3 is devoted to proving Theorem 2 and the new congruences (3)–(12) satisfied by $PD_3(n)$. All of the proofs presented involve elementary generating function dissections and manipulations.

2. Preliminaries

We recall Ramanujan's theta functions

$$\phi(q) = \sum_{n=-\infty}^{\infty} q^{n^2} = \frac{(q^2; q^2)_{\infty}^5}{(q; q)_{\infty}^2 (q^4; q^4)_{\infty}^2}, \quad (13)$$

$$\psi(q) = \sum_{n=0}^{\infty} q^{n(n+1)/2} = \frac{(q^2; q^2)_{\infty}^2}{(q; q)_{\infty}}. \quad (14)$$

By Entry 25 (i), (ii), (v), and (vi) in [4, p. 40], we have

$$\phi(q) = \phi(q^4) + 2q\psi(q^8), \quad (15)$$

and

$$\phi(q)^2 = \phi(q^2)^2 + 4q\psi(q^4)^2. \quad (16)$$

Throughout this paper, we define

$$f_k := (q^k; q^k)_{\infty}$$

in order to shorten the notation. Thus, we can rewrite (1) in the form

$$\sum_{n=0}^{\infty} PD_3(n)q^n = \frac{f_6^2 f_9}{f_1 f_2 f_{18}}. \quad (17)$$

In the next lemmas, we recall some identities that will be useful in the proof of Theorem 3. The first lemma presents the 2-dissections of f_1^2 , certain quotients of powers of f_1 and f_3 , and $\frac{1}{f_1^t}$ for $t \in \{2, 4, 8\}$.

Lemma 1. *The following identities hold:*

$$f_1^2 = \frac{f_2 f_8^5}{f_4^2 f_{16}^2} - 2q \frac{f_2 f_{16}^2}{f_8}, \quad (18)$$

$$\frac{1}{f_1^2} = \frac{f_8^5}{f_5^2 f_{16}^2} + 2q \frac{f_4^2 f_{16}^2}{f_2^5 f_8}, \quad (19)$$

$$\frac{1}{f_1^4} = \frac{f_4^{14}}{f_2^{14} f_8^4} + 4q \frac{f_4^2 f_8^4}{f_2^{10}}, \quad (20)$$

$$\frac{1}{f_1^8} = \frac{f_4^{28}}{f_2^{28} f_8^8} + 8q \frac{f_4^{16}}{f_2^{24}} + 16q^2 \frac{f_4^4 f_8^8}{f_2^{20}}, \quad (21)$$

$$\frac{f_3}{f_1^3} = \frac{f_4^6 f_6^3}{f_2^9 f_{12}^2} + 3q \frac{f_4^2 f_6 f_{12}^2}{f_2^7}, \quad (22)$$

$$\frac{f_1^3}{f_3} = \frac{f_4^3}{f_{12}^3} - 3q \frac{f_2^2 f_{12}^3}{f_4 f_6^2}, \quad (23)$$

$$\frac{f_3}{f_1} = \frac{f_4 f_6 f_{16} f_{24}^2}{f_2^2 f_8 f_{12} f_{48}} + q \frac{f_6 f_8^2 f_{48}}{f_2^2 f_{16} f_{24}}. \quad (24)$$

Proof. Identity (18) follows from (16) after replacing q by $-q$. By (13) and (14) we can rewrite (15) in the form

$$\frac{f_2^5}{f_1^2 f_4^2} = \frac{f_8^5}{f_4^2 f_{16}^2} + 2q \frac{f_{16}^2}{f_8},$$

from which we obtain (19) after multiplying both sides by $\frac{f_4^2}{f_2^5}$.

By (13) and (14) we can rewrite (16) in the form

$$\frac{f_2^{10}}{f_1^4 f_4^4} = \frac{f_4^{10}}{f_2^4 f_8^4} + 4q \frac{f_8^4}{f_4^2},$$

from which (20) follows. The identity in (21) is just (20) squared.

Equation (22) appears in [2] as Theorem 4.17. Replacing q by $-q$ in (22) and using the fact that

$$(-q; -q)_{\infty} = \frac{f_2^3}{f_1 f_4},$$

we obtain (23). Identity (24) is Eq. (30.10.3) in [9]. \square

In the next lemma, we recall the 3-dissections of $f_1 f_2$, f_2/f_1^2 , $\frac{1}{f_1^3}$, and $\psi(q)$.

Lemma 2. *The following identities hold:*

$$f_1 f_2 = \frac{f_6 f_9^4}{f_3 f_{18}^2} - q f_9 f_{18} - 2q^2 \frac{f_3 f_{18}^4}{f_6 f_9^2}, \quad (25)$$

$$\frac{f_2}{f_1^2} = \frac{f_6^4 f_9^6}{f_3^8 f_{18}^3} + 2q \frac{f_6^3 f_9^3}{f_3^7} + 4q^2 \frac{f_6^2 f_{18}^3}{f_3^6}, \quad (26)$$

$$\begin{aligned} \frac{1}{f_1^3} &= \frac{f_9^3}{f_3^{12}} \left\{ f_3^2 \frac{\phi(-q^9)^6}{\phi(-q^3)^2} + 8q^3 f_3^2 \frac{\phi(-q^9)^3 \psi(q^9)^3}{\phi(-q^3) \psi(q^3)} + 16q^6 f_3^2 \frac{\psi(q^9)^6}{\psi(q^3)^2} \right. \\ &\quad \left. + 3q f_3 f_9^3 \frac{\phi(-q^9)^3}{\phi(-q^3)} + 12q^4 f_3 f_9^3 \frac{\psi(q^9)^3}{\psi(q^3)} + 9q^2 f_9^6 \right\}, \end{aligned} \quad (27)$$

$$\psi(q) = \frac{f_6 f_9^2}{f_3 f_{18}} + q \frac{f_{18}^2}{f_9}. \quad (28)$$

Proof. Identity (25) was proven in [11]. A proof of (26) can be seen in [10]. Identity (27) is Equation (14) in [7]. Identity (28) follows from the first equality in Corollary (ii) [4, p. 49]. \square

The next lemma appears in [13, Eq. 5.1].

Lemma 3. *The following identity holds:*

$$\frac{f_2^4 f_3^8}{f_1^8 f_6^4} = 1 + 8q \frac{f_2 f_6^5}{f_1^5 f_3}. \quad (29)$$

The next result is a consequence of Jacobi's triple product identity.

Lemma 4. *The following identity holds:*

$$f_1^3 = \sum_{n=0}^{\infty} (-1)^n (2n+1) q^{n(n+1)/2}. \quad (30)$$

Proof. See Section 1.3 in [5]. \square

In order to prove some of the congruences, we make use of the following well-known results in the next lemma, which can be proven using the binomial theorem.

Lemma 5. *Given a prime p and positive integers k and m , we have*

$$\begin{aligned} f_k^{4m} &\equiv f_{2k}^{2m} \pmod{4}, \\ f_k^{9m} &\equiv f_{3k}^{3m} \pmod{9}, \\ f_k^{pm} &\equiv f_{pk}^m \pmod{p}. \end{aligned}$$

3. Proofs of the New Congruences

This section is devoted to proving Theorem 2 and Theorem 3. In order to do so, we prove some additional identities involving $\sum_{n=0}^{\infty} PD_3(n)q^n$. We begin by recalling Equations (4), (5), (6), (9), and (12) in [12]:

$$\sum_{n=0}^{\infty} PD_3(2n)q^n = \frac{f_3f_6^3}{f_1^3f_{18}}, \quad (31)$$

$$\sum_{n=0}^{\infty} PD_3(2n+1)q^n = \frac{f_2^2f_3^3f_{18}}{f_1^4f_6f_9}, \quad (32)$$

$$\sum_{n=0}^{\infty} PD_3(3n)q^n = \frac{f_3^4f_6^2}{f_1^4f_2^2} \left(\frac{f_2^2f_3^6}{f_1^2f_6^6} - 2q \frac{f_1f_6^3}{f_2f_3^3} \right), \quad (33)$$

$$\sum_{n=0}^{\infty} PD_3(4n)q^n = \frac{f_2^6f_3^6}{f_1^9f_6^2f_9}, \quad (34)$$

$$\sum_{n=0}^{\infty} PD_3(6n+5)q^n = 12 \frac{f_2^5f_3^5f_6}{f_1^{11}}. \quad (35)$$

3.1. Proof of Theorem 2

Firstly we consider the case when n is even. We shall show that $PD_3(2n) \equiv 0 \pmod{3}$. This is a straightforward consequence of using Lemma 5 in (31). Indeed,

$$\sum_{n=0}^{\infty} PD_3(2n)q^n \equiv \frac{f_3f_{18}}{f_3f_{18}} \equiv 1 \pmod{3}.$$

Thus, for all $n \geq 1$, $PD_3(2n) \equiv 0 \pmod{3}$.

Now we consider the case when n is odd. The generating function for $PD_3(2n+1)$ is (32) above. From (14), using Lemma 5, we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} PD_3(2n+1)q^n &\equiv \frac{f_2^2f_6^2}{f_1^4} \equiv \psi(q)\psi(q^3) \\ &\equiv \sum_{k,m=0}^{\infty} q^{\frac{k(k+1)}{2} + 3\frac{m(m+1)}{2}} \pmod{3}, \end{aligned}$$

from which it follows that

$$PD_3(2n+1) \equiv \begin{cases} r(2n+1) \pmod{3}, & \text{if } 2n+1 = k(k+1) + 3m(m+1) + 1, \\ 0 \pmod{3}, & \text{otherwise,} \end{cases}$$

where $r(n)$ is the number of representations of n as $k(k+1) + 3m(m+1) + 1$. This completes the proof of (2) in the case when n is odd.

3.2. Proof of Theorem 3

By (27) and (31), we have

$$\begin{aligned} \sum_{n=0}^{\infty} PD_3(2n)q^n &= \frac{f_6^3 f_9^3}{f_3^{11} f_{18}} \left\{ f_3^2 \frac{\phi(-q^9)^6}{\phi(-q^3)^2} + 8q^3 f_3^2 \frac{\phi(-q^9)^3 \psi(q^9)^3}{\phi(-q^3) \psi(q^3)} + 9q^2 f_9^6 \right. \\ &\quad \left. + 16q^6 f_3^2 \frac{\psi(q^9)^6}{\psi(q^3)^2} + 3q f_3 f_9^3 \frac{\phi(-q^9)^3}{\phi(-q^3)} + 12q^4 f_3 f_9^3 \frac{\psi(q^9)^3}{\psi(q^3)} \right\}. \end{aligned}$$

By taking the terms involving q^{3n+2} , we obtain

$$\sum_{n=0}^{\infty} PD_3(6n+4)q^n = 9 \frac{f_2^3 f_3^9}{f_1^{11} f_6}, \quad (36)$$

from which (12) follows directly.

From (36) and using (29), we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} PD_3(6n+4)q^n &= 9 \frac{f_3 f_6^3}{f_1^3 f_2} \left(1 + 8q \frac{f_2 f_6^5}{f_1^5 f_3} \right) \\ &= 9 \frac{f_3 f_6^3}{f_1^3 f_2} + 72q \frac{f_6^8}{f_1^8}. \end{aligned}$$

Now, using (21) and (22), it follows that

$$\begin{aligned} \sum_{n=0}^{\infty} PD_3(6n+4)q^n &= 9 \frac{f_4^6 f_6^6}{f_2^{10} f_{12}^2} + 27q \frac{f_4^2 f_6^4 f_{12}^2}{f_2^8} + 72q \frac{f_4^{28} f_6^8}{f_2^{28} f_8^8} \\ &\quad + 576q^2 \frac{f_4^{16} f_6^8}{f_2^{24}} + 1152q^3 \frac{f_4^4 f_6^8 f_8^8}{f_2^{20}}. \end{aligned}$$

Hence,

$$\begin{aligned} \sum_{n=0}^{\infty} PD_3(12n+4)q^n &= 9 \frac{f_2^6 f_3^6}{f_1^{10} f_6^2} + 576q \frac{f_2^{16} f_3^8}{f_1^{24}} \\ &\equiv f_2 f_6 \pmod{2}, \end{aligned}$$

from which we obtain (3).

The congruence in (4) follows directly from (33). Indeed,

$$\begin{aligned} \sum_{n=0}^{\infty} PD_3(3n)q^n &= \frac{f_3^{10}}{f_1^6 f_6^4} - 2q \frac{f_3 f_6^5}{f_1^3 f_2^3} \\ &\equiv \frac{f_3^8}{f_6^4} - 2q f_6^4 \pmod{3}, \end{aligned}$$

from which we see that the coefficients of q^{3n+2} in $\sum_{n=0}^{\infty} PD_3(3n)q^n$ are congruent to 0 modulo 3, completing the proof of (4).

From (34), using (23), we have

$$\begin{aligned} \sum_{n=0}^{\infty} PD_3(4n)q^n &\equiv \frac{f_1^3 f_3^2}{f_9} \equiv \frac{f_1^3}{f_3} \frac{f_3^3}{f_9} \pmod{4} \\ &\equiv \left(\frac{f_4^3}{f_{12}} - 3q \frac{f_2^2 f_{12}^3}{f_4 f_6^2} \right) \left(\frac{f_{12}^3}{f_{36}} - 3q^3 \frac{f_6^2 f_{36}^3}{f_{12} f_{18}^2} \right) \pmod{4} \\ &\equiv \frac{f_4^3 f_{12}^2}{f_{36}} - 3q \frac{f_2^2 f_{12}^6}{f_4 f_6^2 f_{36}} - 3q^3 \frac{f_4^3 f_6^2 f_{36}^3}{f_{12}^2 f_{18}^2} + 9q^4 \frac{f_2^2 f_{12}^2 f_{36}^3}{f_4 f_{18}^2} \pmod{4}. \end{aligned}$$

Thus

$$\sum_{n=0}^{\infty} PD_3(8n)q^n \equiv \frac{f_2^3 f_6^2}{f_{18}} + q^2 \frac{f_1^2 f_6^2 f_{18}^3}{f_2 f_9^2} \pmod{4},$$

from which, using (18) and (19), we deduce

$$\begin{aligned} \sum_{n=0}^{\infty} PD_3(8n)q^n &\equiv \frac{f_2^3 f_6^2}{f_{18}} + q^2 \frac{f_6^2 f_{18}^3}{f_2} \left(\frac{f_2 f_8^5}{f_2^2 f_{16}^2} - 2q \frac{f_2 f_{16}^2}{f_8} \right) \\ &\quad \times \left(\frac{f_{72}^5}{f_{18}^5 f_{144}^2} + 2q^9 \frac{f_{36}^2 f_{144}^2}{f_{18}^5 f_{72}} \right) \pmod{4}. \end{aligned}$$

By expanding this product and taking the odd part we are left with

$$\sum_{n=0}^{\infty} PD_3(16n+8)q^n \equiv \left(2q^5 \frac{f_4^5 f_{18}^2 f_{72}^2}{f_2^2 f_8^2 f_{36}} - 2q \frac{f_8^2 f_{36}^5}{f_4 f_{72}^2} \right) \frac{f_3^2}{f_9^2} \pmod{4}.$$

Using (18) and (19) once again, we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} PD_3(16n+8)q^n &\equiv \left(2q^5 \frac{f_4^5 f_{18}^2 f_{72}^2}{f_2^2 f_8^2 f_{36}} - 2q \frac{f_8^2 f_{36}^5}{f_4 f_{72}^2} \right) \left(\frac{f_6 f_{24}^5}{f_{12}^2 f_{48}^2} - 2q^3 \frac{f_6 f_{48}^2}{f_{24}} \right) \\ &\quad \times \left(\frac{f_{72}^5}{f_{18}^5 f_{144}^2} + 2q^9 \frac{f_{36}^2 f_{144}^2}{f_{18}^5 f_{72}} \right) \pmod{4}, \end{aligned}$$

from which we see that the even part of $\sum_{n=0}^{\infty} PD_3(16n+8)q^n$ is congruent to 0 modulo 4, completing the proof of (5).

In order to prove (6), we use Lemma 5 to rewrite (34) modulo 4:

$$\sum_{n=0}^{\infty} PD_3(4n)q^n \equiv \frac{f_2^6 f_3^6}{f_1 f_2^4 f_6^2 f_9} \equiv \frac{f_2^2}{f_1} \frac{f_3^6}{f_6^2 f_9} \equiv \psi(q) \frac{f_3^6}{f_6^2 f_9} \pmod{4}.$$

Now, by (28), it follows that

$$\sum_{n=0}^{\infty} PD_3(4n)q^n \equiv \frac{f_3^6}{f_6^2 f_9} \left(\frac{f_6 f_9^2}{f_3 f_{18}} + q \frac{f_{18}^2}{f_9} \right) \pmod{4},$$

from which we obtain

$$\sum_{n=0}^{\infty} PD_3(12n)q^n \equiv \frac{f_1^5 f_3}{f_2 f_6} \equiv f_1 f_2 \frac{f_3}{f_6} \pmod{4}.$$

Finally, using (25), we extract the terms involving q^{3n} . This yields

$$\sum_{n=0}^{\infty} PD_3(36n)q^n \equiv \frac{f_3^4}{f_6^2} \equiv 1 \pmod{4},$$

which implies (6).

From (32) and using (26) we obtain

$$\sum_{n=0}^{\infty} PD_3(2n+1)q^n = \frac{f_3^3 f_{18}}{f_6 f_9} \left(\frac{f_6^4 f_9^6}{f_3^8 f_{18}^3} + 2q \frac{f_6^3 f_9^3}{f_3^7} + 4q^2 \frac{f_6^2 f_{18}^3}{f_3^6} \right)^2.$$

Extracting the terms of the form q^{3n+1} on both sides of this identity, we are left with

$$\sum_{n=0}^{\infty} PD_3(6n+3)q^{3n+1} = \frac{f_3^3 f_{18}}{f_6 f_9} \left(2q \frac{f_6^7 f_9^9}{f_3^{15} f_{18}^3} + 16q^4 \frac{f_6^4 f_{18}^6}{f_3^{12}} \right),$$

from which it follows that

$$\sum_{n=0}^{\infty} PD_3(6n+3)q^n \equiv 2 \frac{f_2^6 f_3^8}{f_1^{12} f_6^2} \equiv 2 \frac{f_2^2 f_3^2}{f_1^4} \pmod{8}. \quad (37)$$

Now, using (20) we extract the even parts on both sides of this congruence to obtain

$$\sum_{n=0}^{\infty} PD_3(12n+9)q^n \equiv 8 \frac{f_2^2 f_3^2 f_4^4}{f_1^8} \pmod{8},$$

which implies (7).

From Lemma 5 we see that

$$\frac{f_2^2 f_6^2}{f_1^4} \equiv f_3^4 \pmod{4}.$$

Then, by (37), we deduce

$$\sum_{n=0}^{\infty} PD_3(6n+3)q^n \equiv 2 f_3^4 \pmod{8},$$

from which (8) and (9) follow.

We close this section by proving (10) and (11). By Lemma 5,

$$\frac{f_2^5 f_3^5 f_6}{f_1^{11}} \equiv \frac{f_3 f_6^3}{f_1} \pmod{2}.$$

From (35), it follows that

$$\sum_{n=0}^{\infty} PD_3(6n+5)q^n \equiv 4f_6^3 \frac{f_3}{f_1} \pmod{8}.$$

Now, using (24), we 2-dissect $\sum_{n=0}^{\infty} PD_3(6n+5)q^n$ modulo 8 to obtain

$$\sum_{n=0}^{\infty} PD_3(12n+5)q^n \equiv 4 \frac{f_2 f_3^4 f_8 f_{12}^2}{f_1^2 f_4 f_6 f_{24}} \equiv 4 \frac{f_6 f_8}{f_4} \pmod{8},$$

and

$$\sum_{n=0}^{\infty} PD_3(12n+11)q^n \equiv 4 \frac{f_3^4 f_4^2 f_{24}}{f_1^2 f_8 f_{12}} \equiv 4 \frac{f_2^3 f_6^2 f_{24}}{f_8 f_{12}} \pmod{8},$$

from which we obtain (8) and (9), respectively.

References

- [1] G. E. Andrews, R. P. Lewis, and J. Lovejoy, Partitions with designated summands, *Acta Arith.* **105** (2002), 51–66.
- [2] N. D. Baruah and K. K. Ojah, Analogues of Ramanujan’s partition identities and congruences arising from his theta functions and modular equations, *Ramanujan J.* **28** (2012), 385–407.
- [3] N. D. Baruah and K. K. Ojah, Partitions with designated summands in which all parts are odd, *Integers* **15** (2015), #A9.
- [4] B. C. Berndt, *Ramanujan’s Notebooks, Part III*, Springer, New York, 1991.
- [5] B. C. Berndt, *Number Theory in the Spirit of Ramanujan*, AMS, Providence, 2006.
- [6] W. Y. C. Chen, K. Q. Ji, H.-T. Jin, and E. Y. Y. Shen On the number of partitions with designated summands, *J. Number Theory* **133** (2013), no. 9, 2929–2938.
- [7] S. Chern and L.-J. Hao, Congruences for partition functions related to mock theta functions, *Ramanujan J.* **48** (2018), no. 2, 369–384.
- [8] B. Hemanthkumar, H. S. Sumanth Bharadwaj, and M. S. Mahadeva Naika Congruences modulo small powers of 2 and 3 for partitions into odd designated summands, *J. Integer Seq.* **20** (2017), no. 4, Art. 17.4.3.
- [9] M. D. Hirschhorn, *The power of q , a personal journey*, Developments in Mathematics, 49. Springer, 2017.

- [10] M. D. Hirschhorn and J. A. Sellers, Arithmetic relations for overpartitions, *J. Comb. Math. Comb. Comp.* **53** (2005), 65–73.
- [11] M. D. Hirschhorn and J. A. Sellers, A congruence modulo 3 for partitions into distinct non-multiples of four, *J. Integer Sequences* **17** (2014), Article 14.9.6.
- [12] M. S. M. Naika and D. S. Gireesh, Congruences for 3-regular partitions with designated summands, *Integers* **16** (2016), #A25.
- [13] S. H. Son, Cubic Identities of Theta Functions, *Ramanujan J.* **2** (1998), 303–316.
- [14] E. X. W. Xia, Arithmetic properties of partitions with designated summands, *J. Number Theory* **159** (2016), 160–175.